JX3

79 X9|€202/T11/22 | 7L60T IS olva VIdv003d|L
9d xa|€c0e/1t/2c | te60T IS ONVIONT 3lvyav|9
€4 X3[€702/TT/0T | 16L0T IS O¥3IdINVIO VHIVA|S
9J X9|€70T/TT/€C | £660T IS ODYVIN| 0DSV10SSO9g|P
SD X3|€20Z/TT/1Z | ¥S80T IS YNNVAOID M3vavy|s
90 X9(€20T/TT/TZ | €S80C IS VS3Y3L VIHVIN OY3INVd|Z
90 x2|€207/T1/CC | zTe0T IS 02143034 02JI¥VL|T

€C0C°'T0°TO 1vd IDDVSSYd

1D X3|€20¢/TT/€C | 900TT ON VYNILSIH¥D 010SSI4|/T
99'/L S 886C 8Lty L9 X3|€202/TT/TT | €680C IS olanv1o VYNVIN|9T
% 80°6L S 88'6C 0C¢'vt €9 X9|€T0C/TT/1C | 1680C IS I13INVA|  OYVLVYNNVYO(ST
0S‘6L S 886C 9'vp 4 xa|€c0e/TT/Ce | TL60T IS oldva VIdv0039|vT
vEL8 S 88'6¢ 9t'CS 99 X9|€¢0¢/11/TC | ¥T60T IS ONVIONT Jlvdav|et
6C'88 S ¥8'6€ Sh'ey €9 X3|€20¢/T1/0T | T6L0C IS OY3IdINVIO VHIVA|ZT
98'TL S Z6'6T v6'9% SD X9|€z0e/TT/1T | 7680T IS 0I9Y3S|  0JSVITOIUd|TT
L S 66T (A4 1D X3|€70¢/T1/€C | TLOTC IS Vvyvs VYZZVAVIHD|0T
vv'18 S 88°6C 9591 D X9|€20Z/11/TT | SS80¢ IS ONVIAYID| OSNINILYVIN|6
6v°L8 S 88°6¢ 19'CS TJ X9|€702/T1/TC | 0680C IS VYNILNITVA 0Y3yY3d|8
2X3 |evLs S 88'6C 19°CS TJ X9|€20Z/1T/0T | £8L0C IS OI¥VIA 0DSIONVYHS INVIT90Q|L
q€‘88 S ¥8°6€ 1S'ey SJ X9|€T0T/T1/€C | £660C IS ODYVIN| 02SV10SS0d|9
9956 S ¥8‘6€ 78°0S 90 X3|€20¢/TT/1T | ¥S80T IS VYNNVAOID I113vavy|s
16'S6 S ¥8°6€ LO‘1S 90 X9|€20¢/T1T/1C | €S80¢ IS VSIYIL VIdYIN OYINVd|v
wiLe S ¥8‘6€ 85°CS 92 X9|€20T/11/CT | TT60T IS (o] ECEE 0JJIYVL|E
ax3 €Q xe V1NN3IAYId NON IS odNYN Vv02IS|t
va xa V1NN3IAY3d NON IS OIYOLLIA OANOWIVH|T
v, 0 0)7 d0 U q Ddd ) U U O

[0 \/ V&



